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ECONOMICS-1-"
(Micro Economics and Indian Economic Problems)
Paper-1
Time : Three Hours] [Maximum Marks : 90
Note : Attempt five questions in all. Question No. 1 is compulsory.
Remaining four questions are to be attempted by selecting

one question from each unit. All questions carry equal
marks.

M : FA A W W TS 1 SFEE 9 ER 5
T TR ¥ UHh-Ush I 9 H O W B o
A #

Compulsory Question ( 3tfams wyw)
1. (A) Choose the correct option : (10x1=10)

(a) InMicro Economics, we study the problems relating
t0 ...cccevceeeee. (whole economy, individual units)
(b) When income increases, the demand for an inferior
2000 i (increases, decreases)

(¢) A consumer is in equilibrium when Zwmé. =7

P

@) P.-P (ii) M,.

(iii) P, + J (iv) P, x J\
(d) When total revenue of a firm is decreasing, its
marginal revenue will be negative. (True, False)
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UNIT-I ( 3h13-1)

What is Indifference curve ? Describe the main features of
Indifference curves. 18
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Write a detailed note on Internal and External economies and
diseconomies of scale. 18
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UNIT-II ( $ehTE-11 )

What do you mean by Monopolistic competition ? Explain
the determination of price and output in Monopolistic
competition. _ 18
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Describe different types of Price Discrimination. When is Price
discrimination profitable ? 18
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UNIT-III ( $eTé-111 )

What are the main causes of Poverty in India ? Describe
important measures for eradication of poverty. : 18
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Describe the achievements and failures of Economic planning
in India. 18
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UNIT-1V (3&E-1IV )

What are the main defects of Agricultural marketing in India ?
Give suggestions to remove these defects. 18
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Describe the main features of 1991 Industrial Policy of
Government of India. 18
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